Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs. ; ! ,{fg\ “Max. Marks: 80

i) x(t) =1+t cos’t+ tﬁsmf 1 ,+t cost. ol (08 Marks)
b. For the signal x(t) shown m\F 1g Q1(b) find and plot—X\
) x(2t—4) ii) x(-3t+2) m) x(2(—t -1)). (08 Marks)

VL)

(08 Marks)

b. Given the signal x(n) = (8 '~ 1) [u(n) — u(n — 8)]. Find and sk*etc )

i) yi(n) =x[4 - n] i y;(nj x[2n - 3]. (08 Marks)
3 Module 2 PN
3 a n mtegral of x1(t) = €~ u(t) and xa(t) = u(t + T (08 Marks)
b (n)* a’u(n). Given : |B| <1 and |of < 1. ) (04 Marks)
. OR

4 a. Convolute the two continuous time signals x;(t) and x,(t) given below :
x1(t) = cosmt[u(t + 1) — u(t — 3)] and xa(t) = u(t). (08 Marks)
. Evaluate y(n) = B" u(n) * u(n — 3) given: |B| < 1. (04 Marks)
c. Show that : i) x(n) * 8(n) = x(n) i) x(n) * 8(n —np) = x(n — no). (04 Marks)
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Module-3

—Check the following systems for memory less, causality and stability :
= iyhgn) = (-0. 25)" i) h(t) = € u(t - 1).

“"F)nﬁ‘ the step response of an LTI system whose impulse response (i

N
h(n) -”\Z 8(n-k).

‘déefined by

=3

(04 Marks)

e

6 a. Findthe step respﬁmée}

Dhty=c i) h®) =), (06 Marks)
b. State any six propertle\s ﬁtf QTF S. (o 5 (06 Marks)
c. Determine DTEFS of the sx;,;aa‘l x(n) cos(; n] AISQ‘id‘fé‘w“its spectra. (04 Marks)
\‘\t\‘fm‘\ N 4 -
7 a. Obtain the Fourier transform of theSigr tu(t) a> 0. Also draw its magnitude and
phase spectra. ‘;f =/ ) (06 Marks)
b. Find the DTFT of the signal x(n) = o 1 Also draw its magnitude spectra.
*« (04 Marks)
c. Find the FT representation for the periodicsignal x(t) = cos ot and also draw its spectrum.
(06 Marks)
:«:\
8 a. Find the FT of the signum functlo}inx(t) = sgn(t). B he magnitude and phase spectra.
(06 Marks)
b.  Find the DTFT of 8(n) and dra\y the spectrum. (04 Marks)
c. Find the FT of the perlodlc‘mf(pulse train dy, t)= Z S(t Tﬁ) and draw the spectrum.
&'\f’ ‘“\ \ gy ¢ e
3 (06 Marks)
T Module-5
9 a. Find Z.T of the: f wing sequences and als sketch their RoC :
i) x(n)= S{nQQn n) ii) x(n) = (3" u(n) + (-2)" u(-n-1). (08 Marks)

1/},—-1

b. followmg sequence X(z)= 4 with RB(ET,’.« L,
-1 -1 4
- -
4
I ), OR
10 a. State and prove the following properties of ZT
, ; ”§\T1me reversal property i) differentiation property.
b Find IZT of the following sequence using partial fraction expansion method :
2[22 - EJ
X@)=—5—3-"7
Z — 5 7+ E
Given:i)RoC:|z|<3 ; i)RoC:[z[>1; iij) RoC:3<|z|<1. (08 Marks)
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